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GEOGRAPHY
(Theory)

Full Marks : 70
Pass Marks : 21

Time : Three hours

The figures in the margin indicdte Jull marks
Jor the questions.

All Questions are Compulsory.

Q. No. 1 & Q. No. 2 carry 1 mark each 1x8 = 8

Q. No. 3 (a to j).carries 2 marks each 2x1ON=.20

Q. No. 4 (a to j) carries 3 marks each (any nine)  3x9 = 27

Q. No. § (a to d) carries 5 marks each (any three) 5x3 = 15

Total = 70
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1. Choose the-right answer from the four alternatives given below : | () What is road density ?

. BN 1x4=4 | £
S 2 S N o2 2 2 212 9 |
o sers Tl priShl Qe \O e “Id1 e Teeo! MR Tfered! : | _
2 a).....Wh.ic‘}-:‘)leg f the following age limits is considered for: () Road length per 1 sqg.km.
N H.CAS] #g*l-i"tcracy rate of a country ? oS 79 [Pt 21299
-_\%' ha ‘m o {IJ " 3 g 4 Ly ! ;
‘ "‘*151‘2!3’-37“@ AEFol9 29 E;ﬁﬁfﬂ woT® W2 (FFCE! TF S [Heapa <= 247 (ii) Road length per 10 sq. km.
(i) 12 years | oS So 9 RcenifSicig #1291
SR =T : : (iii) . Road length per 100 sq. km.
(ll) 6 years : ?—[% 200 %’ﬂ(ﬁ"{fﬁ@ﬁﬁ' 2129 Eﬁ'ﬂ/]
AT 15 . ' (iv) Road length per 1000 sq. km. .
" (iti) 5 years | _ | elfS o000 97 Reanfiibr »137 th
€ = (d) In which of the following places is the annual rainfall very

low ?

(iv) 7 years :
ST (I IR AR IReiten w1 wife w5

q I=d
' (i) Tezpur

(b) Which one of the following method of cultivation is practiced (S

in the hill areas of North-East India ?

(i) Lamding

TET-7d ST AR SeeTS o1 Al (FIRCH! 1 AR SEFEe T 53 2 -
GIRIICH

(i) Commercial cultivation
(iii) Silchar

(i) Mixed cultivation ik , (iv) Guwahati
. e f ' IRl
(i) Shifting cultivation - | 2. Answer the following questions in brief : Ix4=4
ZFTS oo Al e by bed fir ¢
(iv) Cooperative farming : — f (@) Who developed the concept of ‘human development’?
IR FE _ S [ GRETC] I SeRe SR 2
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(b) What do you mean by transhumance ?

AP I T @i
(¢) Which is the first oil refinery in the state of Assam
SIS A COETCHIAINE 0] 2

(d) Give the definition of sustainable development.

JEerEs] Cagee e a3 |
3. Answer in brief :
53 ©ed Al ¢

(@) What are the two major components of the carth ?

SRR 520 TAME 751 [ 52

?

2x10=20

(b) Give two geographical factors that influence the distribution of

population.

TR Fo9e® &SI (ARl 70 (Slifers SR S <= |

(¢) Name two components of human development.
S e 75 Solmiee A |
(d) Give two examples of tertiary activity.

PO PRI 75) Sufege T |

(e) What is nucleated secttlement ? Give example.

(FUTS 70 FIF @I 2 Srizae @l |
2 _
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4. Answer the following questions in about 100 words each

() Name two very cold regions of India.
Slaed Ifs el S ﬁwmﬂ (BRI

() Give two main causes of male-female migration.
oS-SRl e 76! Y247 e S, < |

(h) Mention the impact of air pollution on human health.
STRA HIZA \S7(F Y Red e S < |

() How are ports helpful for trade ?

e 9 TMEEIET AR et e

() Give two reasons why setting up of heavy industries in Assam
is difficult, 7

SPTS &R COrlel oM FEICo! [ @ibel 767 el weel |

(any nine) : 3x9=274
TS il epTIRe AfSthR Ted 10001 *7e fowss il ¢ (Rizizr 751)

(@) What does human geography study ?
T el [ SR e

(b) What is population explosion ? Why is this so ?
G e e g /5w =0

(c) Explain the two approaches to planning.:

SARTENE 70 2B i 4

(d) What are the characteristics of commercial livestock rearing ?

ifdfers 21xs siEem E%Iﬁf@ma & fFe
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(e) How do you suggest to conserve Mineral Resources ?

g Ao AT IS \gﬁl‘ﬁﬁ sl a2

() How is water transport cheaper than other modes of transport ?

ﬁ@chE{ oG ToAREESE Gl AEZE 9 AE - 23 2

(g) Name the three physiographic units of Assam.

SN T-Aigies [oiel OGS s & |

(h) Why is agricultural productivity low in dry region ?
S TS PR SAMAIETS] B3 2 {52
(1) .Explain the causes of industrial pollution.

Srpifole egEeR FREPTR I 54 |

() Give an account of the non formal sector of services.

SHiRIRT G|l AeT [{EE 9ol G T

5.  Answer the following questions : (any three) 5x3=15
oot T e Sed ¢ (R fofn) |
(a) Write a note on the scope of human geography.
SR SLaller 2IfR I @Bl (Bl |

(b} Give 4 descri'ption of the occupational structure of world

population.

AfeST TEmanE gferre sififae fazmel foa |

27T GEOG [6]

() What are renewable energy sources ? Enumerate the
characteristics of renewable resources.

 ARIACELY, e TR [ e Aoy Ao @R F@i

(d) Mark the following places and rivers on the outline sketch
map of India :

SIS G TH WA S were Al == wiw AR I284 8
() Capital of two states :
T ST i) g
(1) Gandhinagar
QIEICRT

(2) Kohima

—

ifae

(ii) Two rivers -:

73 71 ¢
(1) Tapti
B i

(2) Subansiri

AIEDIRIE]
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